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Задание 1

              7 : 3 = …

2 ( ост 2)      2 ( ост 1)        2 ( ост 3)



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



             7 : 3 = 2 ( ост 1)

 

               Перейти к                                                
     следующему заданию

Правильно!  Молодец!



Задание 2

              17 : 5 = …

2 ( ост 2)      3 ( ост 1)     3 ( ост 2)



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Молодец!  Правильный ответ!

             

        17 : 5 =  3 ( ост 2)

                 

               Перейти к                                                
     следующему заданию



Задание 3

          26 : 3 = …

8 ( ост 2)      9 ( ост 1)     8 ( ост 4)



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Верно !  Молодец !

        
           26 : 3 = 8 ( ост 2)

                  
               перейти к                                                
     следующему заданию



Задание 4

                41 : 9 = …

5 (ост 4)         4 (ост 5)        6 (ост 5)        



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Правильно!  Молодец!

         
          41 : 9 = 4 (ост 5)

       Перейти к                                                
     следующему заданию



Задание 5

 34 : 7 = …

4 (ост 6)       4 (ост 5)      5 (ост 7)
        



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Верно!  Молодец!

 34 : 7 = 4 (ост 6)

              Перейти к                                                
     следующему заданию

      



Задание 6

                    61 : 8 = …

8 (ост 6)         7 (ост 5)        5 (ост 7)



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Неплохо!

           
          61 : 8 = 7 ( ост 5)

     Перейти к                                                

     следующему заданию

 



Задание 7

44 : 6 = …

8 (ост 3)          6 (ост 5)      7 (ост 2)



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Правильно !  Молодец ! 

44 : 6 = 7 ( ост 2)

              Перейти к                                                
     следующему заданию



Задание 8

   67 : 9 = …

7 (ост 4)         8 (ост 5)       7 (ост 2)



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Верно !  Молодец !

67 : 9 = 7 ( ост 4)

        Перейти к                                                

     следующему заданию



Задание 9

86 : 10 = …

7 (ост 4)        8 (ост 6)        9 (ост 6)



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Неплохо!

86 : 10 = 8 ( ост 6)

            
             Перейти к                                                
     следующему заданию



Задание 10

  28 : 13 = …

 3 (ост 4)       2 (ост 1)         2 (ост 2)



Каждый  может ошибиться !

Попробуй  ещё !

        Вернуться обратно



Правильно !  Молодец ! 

28 : 13 =  2 ( ост 2)

       Перейти к                                                

     следующему заданию



Молодец !
 Мои аплодисменты !

Видео с сайта youtube.com/watch?v=EhoFIy1oY_8


